Puzzle #689
[image: image1.png]Suppose there are more citizens of
Omaha than there are hairs on the
head of any citizen (and no citizen is
totally bald). Does it necessarily follow
that there must be at least two citizens
with exactly the same number of
hairs?




[image: image2.png]Yes, it does follow there would be at least
two citizens with the exact same number of
hairs. Suppose there are 500,000 citizens of

Omaha. If each citizen had a different
number of hairs, then there would be

500,000 different positive whole numbers

each less than 500,000...but that’s
impossible!
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